© : Girder fork

for bicycle/

(= ®

Manual

'@
@/g) ® @O ©

®
®

@)

Assembled bicycle with our Girder fork

Part N2 Description part Quantity
1 Bearing 6002 rs 2
2 Down traverse 1
3 Left arm 1
4 Mounting bolts with inner threat 2
5 Washer M10, DIN125 2
6 Mouting bolts with outer threat 2
7 Right arm (with disk brake adapter) 1
8 Screw M8x16 , DIN 7380 2
9 Steerer (shaft-11/8 inch) 1
10 Upper traverse 1
11 Circlip for bores d=32mm, DIN472 2
12 Washer M8, DIN125 2
13 Screw M10x16, DIN 7380 2
14 Spring shock, 165mm lenght 1 From

IMPORTANT INFORMATION

-Front hub for this fork must have O.L.D.=100mm, axle dimension 10mm(max) #
-Steerer shaft lenght - 2562mm. Diam-28.6mm B
-Maximum wheel size : rim -26inchx102mm, tire - 26inchx4.5inch z
-Raw fork components are covered by anti-rust coating, remove it =

by solvent before painting.

-Please check the screws on the fork after riding. In alternative use a liquid threadlocker 1 1
of medium strength for the screws and bolts. g 9 SpeCIa"y fOf CIaSS|C'CyCIe.de




